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SECONDARY SCHOOL EXAMINATION – 2020 (ANNUAL) 

Model Set 

ECONOMICS (opt.)

Time : 3 Hrs. 15 Minutes         Full Marks : 70

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfgus vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl i= dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidate to 

read the questions carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper is divided into two sections : Section-A and 

Section-B. 

5-  esa 60 oLrqfu"B iz’u gSa] buesa ls fdUgha 50 iz’uksa dk mÙkj nsaA izR;sd 

iz’u ds fy, 1 vad fu/kkZfjr gSA lgh fodYi dks miyC/k djk;s x;s OMR&’khV 

¼mÙkj i=d½ esa fn;s x;s lgh o`Ùk dks dkys@uhys ckWy isu ls vafdr djsaA 50   
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ls vf/kd iz’uksa dk mÙkj nsus dh fLFkfr esa izFke 50 iz’uksa dk gh ewY;kadu fd;k 

tk,xkA fdlh Hkh izdkj ds OgkbZVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk mŸkj 

izf=dk esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 60 objective type questions, each carrying 

1 mark, out of which only 50 questions are to be answered. 

Darken the circle with black/blue ball pen against the correct 

option on OMR Sheet provided to you. If more than 50 questions 

are answered, only first 50 will be evaluated. Do not use 

Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the result will 

be treated as invalid. 

6-  esa xSj oLrqfu"B iz’u gSaA buesa 27  gSa] ftuesa ls 

fdUgha 15 iz’uksa dk mŸkj nsuk vfuok;Z gSA izR;sd ds fy, 2 vad fu/kkZfjr gSA 

blds vfrfjDr bl [k.M esa 08   fn, x;s gSaA izR;sd ds 

fy, 05 vad fu/kkZfjr gSaA buesa ls fdUgha 4 iz’uksa dk mŸkj nsuk vfuok;Z gSA 

In Section-B, there are 27 short answer type questions, out of 

which any 15 questions are to be answered. Each question carries 

2 marks. Apart from this there are 8 long Answer Type 

questions, out of which any four questions are to be answered. 

Each question carries 5 marks. 

7- fdl izdkj ds bysDVªksfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 

 



3 
 

Section A

 Objective Type Question

iz’u la[;k 1 ls 60 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftlesa ,d lgh 

gSA vius }kjk pqus x, lgh fodYi dks OMR 'khV ij fpfUgr djsaA fdUgha 50 iz’uksa dk 

mÙkj nsaA 50 ls vf/kd iz’uksa dk mÙkj nsus dh fLFkfr esa izFke 50 iz’uksa dk gh ewY;kadu 

fd;k tk,xkA          50 X 1 ¾ 50 

Questions No. 1 to 60 have four options, out of which only one is correct. 

You have to  mark, your selected option on the OMR-sheet. Answer any 50 

questions. If more than 50 questions are answered then only first 50 

questions will be evaluated.         50 x 1 = 50 

1- thou dh xq.koŸkk esa lq/kkj D;k gS \ 

A- vkfFkZd laof̀)   B- vkfFkZd fodkl   

C- (A) ,oa (B) nksuksa   D- buesa ls dksbZ ugha 

What is improvement in quality of life called? 

A. economic growth  B. economic development 

C. both (A) and (B)  D. None of these 

2- fuEu esa ls dkSu izR;{k dj gS\ 

A- vk;dj    B- mRikn ’kqYd 

C- fcØh dj    D- buesa dksbZ ugha 

Which of the following is a direct tax? 
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A. Income Tax   B. Excise duty 

C. Sales Tax    D. None of these. 

3- 12 oha iapo"khZ; ;kstuk dh vof/k D;k gS\ 

A- 2012&17    B- 2002&07 

C- 1997&2002    D- buesa dksbZ ugha 

What is the period of 12th Five year Plan? 

A. 2012-17    B. 2002-07 

C. 1997-2002   D. None of these 

4- ldy ?kjsyw mRikn esa va’knku dh n`f"V ls Hkkjrh; vFkZO;oLFkk dk lcls cM+k 

{ks= dkSu gS\ 

A- izkFkfed {ks=   B- f}rh;d {ks=   

C- r`rh;d {ks=    D- buesa dksbZ ugha 

In terms of share in GDP which is the largest sector of Indian 

Economy ? 

A. primary sector   B. secondary sector 

C. tertiary sector   D. None of these. 

5- ctV fuEu esa ls fdl Hkk"kk dk 'kCn gS\ 

A- Ýsap     B- teZu 

C- bVkfy;u    D- buesa dksbZ ugha 

Budget is a word of which of the following languages? 

A. French    B. German 
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C. Italian    D. None of these 

6- fuEu esa ls dkSu ljdkjh miØe ugha gS\ 

A- dksy bf.M;k   B- LVhy vkWFkksfjVh vkWWQ bf.M;k 

C- nksuks ¼A½ vkSj ¼B½   D- VkVk eksVlZ 

Which of these is not a Public Sector Enterprise? 

A. Coal India    B. Steel Authority of India 

C. Both (A) and (B)  D. Tata Motors 

7- buesa dkSu iw¡thoknh vFkZO;oLFkk dk xq.k ugha gS\ 

A- futh ykHk    B- lk/kuksa dk futh LokfeRo 

C- lkekftd dY;k.k   D- buesa lHkh 

Which of these is not a characteristics of capitalist economy? 

A. Private profit   B. Private ownership of resources 

C. Social welfare   D. All of these. 

8- nh?kZ dky esa vFkZO;oLFkk dh okLrfod jk"Vªh; vk; esa o`f) D;k dgykrh gS\ 

A- vkfFkZd fodkl   B- vkfFkZd òf) 

C- lr~r fodkl   D- buesa dksbZ ugha 

What is increase in real National Income of an economy in long 

run called? 

A. Economic Development B. Economic growth 

C. Sustainable Development D. None of these 
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9- vkfFkZd n`f"V ls fodflr ns’kksa dh vk; esa o`f) ds fy, fdl 'kCn dk iz;ksx 

gksrk gS\ 

A- vkfFkZd fodkl   B- vkfFkZd òf) 

C- lekos’kh fodkl   D- buesa dksbZ ugha 

Which word is used for rise in income of economically developed 

countries? 

A. Economic Development B. Economic Growth 

C. Inclusive Growth  D. None of these 

10- Hkkjrh; jsy lkoZtfud miØe ds fdl Lo:i dk mnkgj.k gS\ 

A- foHkkxh; miØe dk  B- lkoZtfud fuxe dk 

C- ljdkjh daiuh dk   D- buesa ls dksbZ ugha 

Indian Railways is which form of Public sector? Which of Public 

Sector enterprise is Indian Railways? 

A. Departmental Undertaking B. Public Corporation 

C. Government Companies D. None of these 

11- ;kstuk vk;ksx ds insu&v/;{k dkSu gksrs Fks\ 

A- jk"Vªifr    B- mijk"Vªifr  

C- foŸk ea=h    D- iz/kkuea=h 

Who used to be  the ex-officio Chairman of Planning Commission? 

A. President    B. Vice-President 

C. Finance Minister  D. Prime Minister 
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12- buesa dkSu IykfLVd eqnzk gS \ 

A- djsalh uksV    B- psd 

C- ,Vh,e lg MsfcV dkMZ  D- buesa lHkh 

Which of these is called plastic money? 

A. Currency note   B. Cheque 

C. ATM Cum Debit Card  D. All of these 

13- izfr O;fDr jk"Vªh; vk; dh ifjHkk"kk D;k gS \ 

A. jk"Vªh; vk; » dqy tula[;k   

B- dqy tula[;k » jk"Vªh; vk; 

C. jk"Vªh; vk; & dqy tula[;k     

D- buesa dksbZ ugha 

What is the definition of per capita national income? 

A. National Income » Total Population 

B. Total Population » National Income 

C. National Income - Total Population     

D. None of these. 
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14- buesa dkSu vk/kkfjd lajpuk dk mnkgj.k gS\ 

A- fctyh    B- vLirky 

C- lapkj    D- buesa lHkh 

Which of these is an example of infrastructure? 

A. Electricity    B. Hospital 

C. Communication   D. All of these 

15- fcgkj dh vf/kdka’k turk fdl {ks= ij fuHkZj gS \ 

A- m/kksx    B- lsok 

C- d`f"k     D- buesa dksbZ ugha 

Majority of population in Bihar is dependent on which sector? 

A. Industry    B. Services 

C. Agriculture   D. None of these 

16- cSad dk ,tsUlh dk;Z D;k gS \ 

A- _.k nsuk    B- tek Lohdkj djuk 

C- VªLVh ds dk;Z    D- ykWdj lqfo/kk nsuk 

What is the agency function of Bank ? 

A. Advancing of Loan  B. Accepting Deposits 

C. Functions of Trustee  D. Providing Locker facilitiy 
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17- fcgkj dsUnz ljdkj ls D;k ek¡x dj jgk gS\ 

A- fo’ks"k jkT; dk ntkZ   

B- >kj[k.M ds lkFk foy; 

C- iVuk&fnYyh ds chp ,Dlizslos ekxZ     

D- ck<+ fu;a=.k ds fy, ufn;ksa dks tksM+us dh ;kstuk 

What is Bihar’s demand from Central Government? 

A. Status of special category state   

B. Merger with Jarkhand 

C. Expressway Road between Patna and Delhi    

D. Linking of rivers for control of floods 

18- eujsxk dk;ZØe dc izkjaHk gqvk \ 

A- 2001    B- 2003 

C- 2006    D- 1995 

When did MNREGA programme  start ? 

A. 2001    B. 2003 

C. 2006    D. 1995 

19- ns’k }kjk ,d o"kZ esa mRikfnr HkkSfrd vkSj vHkkSfrd oLrqvksa ds dqy cktkj ewY; 

dks D;k dgrs gSa\ 

A- izfr&O;fDr vk;   B- jk"Vªh; vk; 
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C- jk"Vªh; iw¡th    D- buesa dksbZ ugha 

What is the total market value of tangible and intangible goods 

produced by a country’s economy in a year called? 

A. Per capita income  B. National income 

C. National capital   D. None of these 

20- ;fn Y jk"Vªh; vk; gks] C miHkksxd O;; gks vkSj I fofu;ksx gks rks cpr D;k 

gksxk \ 

A- Y- I     B. Y- C 

C. C – I    D. C - Y 

If Y is National income, C is consumption expenditure and I is 

Investment then what will be saving? 

A. Y- I     B. Y- C 

C. C – I    D. C - Y 

21- ekax dh yksp eq[; :Ik ls fdrus izdkj dh gksrh gS \ 

A- nks     B- rhu 

C- N%     D- pkj 

How many important types of Elasticity of Demand are there? 

A. Two     B. Three 
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C. Six     D. Four 

22- izfr O;fDr vk; dh o`f) ls D;k gksrk gS\ 

A- xjhch c<+rh gS   B- csjkstxkjh c<+rh gS 

C- thou Lrj Å¡pk gksrk gS  D- buesa dksbZ ugha 

What happens due to rise in per capita income? 

A. poverty increases  B. Unemployment increases 

C. Standard of living rises D. None of these 

23- tc oLrq ds ewY; esa deh vFkok òf) gksua ij mldh ekax ij dqN Hkh izHkko 

ugha iM+rk gS] rks bls D;k dgrs gSa\ 

A- iw.kZr% csykspnkj ekax  B- iw.kZr% ykspnkj ekax 

C- leykspnkj ekax   D- buesa ls dksbZ ugha 

When the fall or rise in price of a good does not affect its demand 

then, what is it called? 

A. Perfectly Inelastic Demand  B. Perfectly elastic demand 

C. Unit elastic demand   D. None of these 

24- Hkkjr ds fdl izns’k dh izfr O;fDr vk; lokZf/kd gS\ 

A- egkjk"Vª    B- fcgkj 

C- iatkc    D- xksok 

The per capita income of which state in India is highest? 
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A. Maharashtra   B. Bihar 

C. Panjab    D. Goa 

25- mRiknu D;k gS\  

A- mi;ksfxrk dk l`tu  B- mi;ksfxrk dk uk’k 

C- nksuksa ¼A½ vkSj ¼B½   D- buesa ls dksbZ ugha 

What is Production? 

A. Creation of utility   B. Destruction of utility 

C. Both (A) and (B)  D. None of these 

26- orZeku ;qx esa fofue; dk ek/;e dkSu gS \ 

A- IykfLVd dkMZ   B- eqnzk 

C- oLrq     D- buesa lHkh 

In today’s world which is medium of exchange? 

A. Plastic Card   B. Money 

C. Goods    D. All of these 

27- Hkkjr esa oLrq ds ewY; dks ge dSls ekirs gSa \ 

A- Mkyj esa    B- #i;s esa 

C- ikW.M esa    D- Vdk esa 

How do we measure value of goods in India? 
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A. In Dollar    B. In Rupees 

C. In Pound    D. In Taka 

28- vQxkfuLrku dh eqnzk D;k dgykrh gS \ 

A- Vdk     B- vQxkuh 

C- MkWyj    D- ikW.M 

What is currency of Afganistan called? 

A. Taka    B. Afgani 

C. Dollar    D. Pound 

29- ns’k esa O;kikj ds fy, fdl eqnzk dk vf/kd mi;ksx gksrk gS \ 

A- flDds    B- i= eqnzk 

C- psd] gq.Mh tSls lk[k i=  D- buesa dksbZ ugha 

Which money is used more for trade within country? 

A. Coins    B. Paper money 

C. Letter of credit like cheque, hundi      

D. None of these 

30- ,Vh,e dk vFkZ D;k gksrk gS\ 

A- vkWy Vkbe e’khu   B- ,uh Vkbe euh 

C- Lopkfyr Vsyj e’khu  D- buesa lHkh 
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What is the meaning of ATM? 

A. All Time Money   B. Any Time Money 

C. Automatic Teller Machine D. All of these 

31- vke thou esa oLrq ds Ø; foØ; ds fy, D;k mi;ksx fd;k tkuk gS\ 

A- psd     B- ,Vh,e 

C- i= eqnzk    D- IykfLVd eqnzk 

What is used for sale and purchase of goods in our day to day 

life? 

A. Cheque    B. ATM 

C. Paper money   D. Plastic money 

32- fuEu esa ls dkSu eqnzk dk vkdfLed dk;Z gS \ 

A- LFkfxr Hkqxrku   B- ewY; dk lap; 

C- iw¡th dh rjyrk esa o`f)  D- buesa lHkh 

Which of these is contingent function of Money? 

A. Standard of Deferred Payment   

B. Store of value 

C. Increase in liquidity of capital   

D. All of these 

33- uk’koku oLrq dk mnkgj.k fuEu esa dkSu gS\ 
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A- diM+k /kksus dk lkcqu  B- VwFk&isLV 

C- vukt    D- buesa lHkh 

Which of the following is the example of Perishable good? 

A. Washing powder  B. Toothpaste 

C. Food grain   D. All of these 

34- buesa dkSu fVdkÅ oLrq gS \ 

A- phuh     B- pk; iŸkh 

C- ia[kk     D- nw/k 

Which of these is durable good? 

A. Sugar    B. Tea leaves 

C. Ceiling fan   D. milk 

35- m/kkj fdls fn;k tkrk gS \ 

A- ftl ij fo’okl gks   

B- ftlesa _.k pqdkus dh {kerk gks 

C- ftlds ikl tekur ds fy, laiŸkh gks     

D- buesa lHkh 

Who is given loan? 

A. One who is trustworthy  

B. One who has ability to repay 
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C. One who has wealth for security  

D. All of these 

36- xzkeh.k {ks= esa xSj&laLFkkxr foŸk dk lcls cM+k lzksr D;k gS\ 

A- O;kikjh    B- fj’rsnkj 

C- egktu    D- buesa ls dksbZ ugha 

Which is the largest source of non-institutional finance in rural 

areas? 

A. Businessman   B. Relatives 

C. Moneylender   D. None of these 

37- bueas dkSu jkT; Lrjh; foŸkh; laLFkk gSa \ 

A- lgdkjh cSad   B- {ks=h; xzkeh.k cSad 

C- Hkwfe fodkl cSad    D- buesa lHkh 

Which of these is state level financial institution? 

A. Cooperative Bank  B. Regional Rural Banks 

C. Land Development Bank D. All of these 

38- buesa dkSu laLFkkxr _.k dk lzksr ugha gS\ 

A- O;kolkf;d cSad   B- ukckMZ 

C- Lo;a lgk;rk lewg   D- izkFkfed lgdkjh lfefr;k¡ 

Which of these is not a source of institutional finance? 
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A. Commercial Bank  B. NABARD 

C. Self Help Group  D. Primary Cooperative Societies 

39- Hkwfe fodkl cSad dSlk _.k nsrk gS\ 

A- vYidkyhu _.k   B- e/;kof/k _.k 

C- nh?kZdkyhu _.k   D- buesa lHkh 

What kind of loan does Land Development Bank provide? 

A. Short-term loan   B. Medium term loan 

C. Long term loan   D. All of these 

40- O;kolkf;d cSad dSlk lk[k iznku djrh gS\ 

A- d`f"k lk[k iznku djrh gS   

B- d`f"k lk[k iznku ugha djrh gS 

C- dsoy O;olk; ds fy, lk[k iznku djrh gS   

D- dsoy ¼A½ ,oa ¼C½ 

Which type of credit does the Commercial Bank provide? 

A. Provides Agriculture Loan  

B. Do not provide agriculture loan 

C. Provides loan only for business 

D. Only (B) and (C) 
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41- jk"Vªh; d`f"k vkSj xzkeh.k fodkl cSad D;k gS\  

A- lw{e foŸk laLFkk    

B- iquforZ laLFkk ¼cSadksa dks fdlkuksa dks iznku djus ds fy, foŸk nsrk gS½ 

C- xzkeh.k foŸk laLFkk 

D- dsoy ¼B½ ,oa ¼C½ 

What is National Bank for Agriculture and Rural Development? 

A. Micro-finance institution      

B. Refinancing Institution (makes finance available to banks for      

     providing loan to farmers) 

C. Rural finance institution   

D. Only (B) and (C) 

42- vU; [kkrksa dh vis{kk LFkk;h tek [kkrs esa C;kt dh nj D;k gksrh gS\ 

A- vf/kd gksrh gS   B- de gksrh gS 

C- cjkcj gksrh gS   D- buesa dksbZ ugha 

As compared to other deposits what is the rate of interest on fixed 

deposits? 

A. Higher    B. Lower 

C. Equal    D. None of these 

43- fuEu esa ls dkSu ykWdj dh lqfo/kk iznku djrk gS\ 
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A- fjtoZ cSad vkWQ bafM;k  B- egktu 

C- ukckMZ    D- O;kolkf;d cSad 

Locker facilities is provided by which of the following? 

A. Reserve Bank of India B. Moneylender 

C. NABARD    D. Commercial Banks 

44- fuEu esa ls dkSu Hkkjr dk dsUnzh; cSad gS\ 

A- LVsV cSad vkWQ bafM;k  B- fjtoZ cSad vkWQ bafM;k 

C- ukckMZ    D- {ks=h; xzkeh.k cSad 

Which of the following is Central Bank of India? 

A. State Bank of India  B. Reserve Bank of India 

C. NABARD    D. Regional Rural Bank 

45- fdl 'kgj dks Hkkjr dh foŸkh; jkt/kkuh dgk tkrk gS\ 

A- fnYyh    B- iVuk 

C- eqEcbZ    D- csaxyq# 

Which city is called the financial capital of India? 

A. Delhi    B. Patna 

C. Mumbai    D. Bengaluru 

46- Hkkjr esa lokZf/kd jkstxkj fdl {ks= }kjk iznku dh tkrh gS\ 

A- lsok {ks=    B- d`f"k {ks= 

C- vkS|ksfxd {ks=   D- buesa dksbZ ugha 
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Which sector provides largest employment in India? 

A. Services sector   B. Agriculture sector 

C. Industrial sector   D. None of these 

47- *fNih gqbZ csjkstxkjh* fdl {ks= esa gSa\ 

A- lsok {ks=    B- d`f"k {ks= 

C- vkS|ksfxd {ks=   D- buesa dksbZ ugha 

There is ‘Disguised unemployment’ in which sector? 

A. Services sector   B. Agriculture sector 

C. Industrial sector   D. None of these 

48- d`f"k {ks= dk Hkkjr ds ldy ?kjsyw mRikn esa D;k ;ksxnku gS\ 

A- 20 %     B- 25 % 

C- 25 % ls vf/kd    D- 20 % ls de 

What is the contribution of agriculture sector in Gross Domestic 

Product of India ? 

A. 20%    B. 25% 

C. More than 25%   D. Less than 20% 

49- lsok {ks= dk Hkkjr ds ldy ?kjsyw mRikn esa D;k ;ksxnku gS\ 

A- 50 %    B- 50 % + ls de 

C- 50 % ls vf/kd   D- buesa dksbZ ugha 
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What is the contribution of services sector in Gross Domestic 

Product of India ? 

A. 50%    B. less than 50% 

C. more than 50%   D. None of these 

50- buesa dkSu xSj&ljdkjh lsok gS\ 

A- Lojkstxkj lsok   B- jsy lsok 

C- lSU; lsok    D- buesa dksbZ ugha 

Which of these is Non-government services? 

A. Self employment services B. Rail Services 

C. Defence Services  D. None of these 

51- Hkkjr eas LokLFk lsok D;k gS\ 

A- iwjh rjg ljdkjh lsok gS   B- iwjh rjg xSj&ljdkjh lsok gS 

C- nksuksa ljdkjh ,oa xSj&ljdkjh lsok gS D- v)Z&ljdkjh lsok gS 

What is the health services in India? 

A. Completely government service     

B. Completely non-government service 

C. Both government and Non-government service   

D. Quasi-government service 
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52- chek: jkT; Hkkjr ds vU; jkT;ksa dh vis{kk  

A- de fiNM+s gSa   B- fiNM+s gSa 

C- dkQh fiNM+s gSa   D- buesa dksbZ ugha 

As compared to other states the BIMARU states in India are? 

A. Less backward   B. Backward 

C. Very backward   D. None of these 

53- chek: jkT; esa izFke uke fdldk gS\ 

A- mM+hlk    B- e/;izns’k 

C- jktLFkku    D- fcgkj 

Which is the first name in BIMARU states? 

A. Odisha    B. Madhya Pradesh 

C. Rajasthan    D. Bihar 

54- LokLFk lsok,¡ D;k gS\ 

A- vkfFkZd vk/kkjHkwr <k¡pk  B- xSj&vkfFkZd vk/kkjHkwr <k¡pk 

C- ukxfjd lsok   D- buesa dksbZ ugha 

What are health services? 

A. economic infrastructure B. non-economic infrastructure 

C. civil services   D. Non of these 
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55- buesa dkSu lwpuk rduhdh dk izeq[k dsUnz gS\ 

A- csaxyq:    B- gSnjkckn 

C- psUubZ    D- buesa lHkh 

Which is an important centre of Information Technology? 

A. Bengaluru   B. Hyderabad 

C. Chennai    D. All of these 

56- vius ns’k dh oLrq dks nwljs ns’k esa cspuk D;k dgykrk gS\ 

A- vk;kr    B- fu;kZr 

C- can vFkZO;oLFkk   D- mnkjhdj.k 

What is sale of a country’s good in another country called? 

A. import    B. export 

C. closed economy  D. liberalization 

57- ubZ vkfFkZd uhfr ;k vkfFkZd lq/kkj dk o"kZ D;k gS\ 

A- 1991     B- 1980 

C- 2001     D- 2011 

Which is the year of New Economic Policy or Economic Reforms? 

A. 1991    B. 1980 

C. 2001    D. 2011 
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58- fo’o esa varjkZ"Vªh; O;kikj lacaf/kr fu;eksa dks dkSu fu/kkZfjr djrk gS\ 

A- fo’o cSad    B- fo’o O;kikj laxBu ¼ WTO½ 

C- vesfjdk    D- varjkZ"Vªh; eqnzk dks"k ¼IMF½ 

Who determines the rules related to international trade in the 

world? 

A. World Bank  B. World Trade Organization (WTO) 

C. America   D. International Monetary Fund (IMF) 

59- tc lexz dh izR;sd bdkbZ dk v/;;u fd;k tkrk gS rks bls D;k dgrs gSa\ 

A- lax.kuk vuqla/kku   B- U;kn’kZ vuqlU/kku 

C- nksuksa ¼A½ vkSj ¼B½   D- buesa ls dksbZ ugha 

When each unit of aggregates is enumerated then what is it 

called? 

A. Census Investigation  B. Sampling Investigation 

C. Both (A) and (B)  D. None of these 

60- EXIM cSad dk eq[;ky; dgk¡ fLFkr gS\ 

A- fnYyh    B- iVuk 

C- psUubZ    D- eqEcbZ 

Where is the Head Office of EXIM Bank situated ? 

A. Delhi    B. Patna 
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C. Chennai    D. Mumbai 

Section-B  

Short Answer Type Questions 

iz’u la[;k 1 ls 27 rd y?kq mÙkjh; dksfV ds iz’u gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj 

nsaA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSaA     (15x2=30) 

Question no. 1 to 27 are Short Answer Type. Answer any 15 questions. 

Each question carries 2 marks.      (15x2=30) 

1- vk; ls vki D;k le>rs gSa \ 

What do you understand by income?  

2- vFkZO;oLFkk ds D;k izeq[k dk;Z gSa\ 

What are the important  functions of an economy? 

3- vFkZO;oLFkk ds rr̀h;d {ks= ls vki D;k le>rs gSa \  

What do you understand by tertiary sector  of economy?  

4- Hkkjr esa fczVsu ds vkSifuosf"kd 'kklu dky esa D;k izxfr gqbZ \ 

What development took place during British colonial rule in India? 

5- iw¡thoknh vFkZO;oLFkk D;k gS \ 

What is a capitalist economy? 

6- oLrq fofue; iz.kkyh D;k gS \ 

What is barter system? 

7- cSad ls vki D;k le>rs gSa \ 
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What do you understand by Bank? 

8- cSad [kkrs ds iSls dk Hkqxrku ds fy, ge dSls mi;ksx dj ldrs gSa \ 

How can we use money in bank account for payment purposes? 

9- vFkZO;oLFkk ds fodkl esa vk/kkfjd lajpuk tSls fctyh] cSad vkfn dk D;k 

egŸo gS \ 

What is the importance of infrastructure like electricity, bank etc. 

for development of economy? 

10- Tkhou dh ewyHkwr vko’;drk ls vki D;k le>rs gSa \ 

What do you understand by basic needs of life? 

11- vkadM+kas ds ladyu dh fof/k;k¡ D;k gS\ 

What are methods of Data Collection? 

12- funZ’ku fof/k ls vki D;k le>rs gSa\ 

What do you understand by Sampling method? 

13- tula[;k vkSj izfr O;fDr vk; dk D;k laca/k gS \ 

What is the relationship between per capita income and 

population? 

14- eqnzk dk ewY; lap; ds fy, dSls mi;ksx gksrk gS \ 

How is money used for store of value? 

15- Hkkjr esa mi;ksx dh tk jgh i= eqnzk dh ppkZ djsaA  

Discuss on the paper money being used in the Indian economy. 

16- lk[k ¼_.k½ iznku djus ds eq[; vk/kkj D;k gS\ 
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What are  the important basis for providing credit (loan)? 

17- izkFkfed d`f"k lk[k lfefr D;k dk;Z djrh gS \ 

What are the functions of Primary Agriculture Credit Society? 

18- Lkjdkjh lsok ds pkj mnkgj.k nsaA  

Give four example of government service. 

19- iwfrZ ls vki D;k le>rs gSa \ 

What do you mean by supply? 

20- lwpuk izkS|ksfxdh ls tqM+h nks lsokvksa dk mYys[k djsaA  

Mention two services related to information technology. 

21- fuos’k ls vki D;k le>rs gSa \ 

What do you understand by investment? 

22- vkfFkZd lq/kkj dk D;k vFkZ gS \ 

What is the meaning of economic reforms? 

23- dkys/ku ls vki D;k le>rs gSa \ 

What do you understand by black money? 

24- oS’ohdj.k ds nks udkjkRed izHkko fy[ksa \ 

Write two negative effects of globalization. 

25- vUrjkZ"Vªh; O;kikj ls vki D;k le>rs gSa \ 

What do you mean be International Trade? 

26- ekax dh yksp D;k gS \ 

What is Elasticity of Demand? 
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27- ekax ds fu;e ds fdUgha nks vioknksa dks fy[ksaA  

Write any two exceptions of Law of Demand. 

Long Answer Type Questions

iz’u la[;k 28 ls 35 rd nh?kZ mÙkjh; dksfV ds iz’u gSaA buesa ls fdUgha 4 iz’uksa ds mÙkj 

nsaA izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSaA     (5x4=20) 

Question no. 28 to 35 are Long Answer Type Questions. Answer any 4 

questions. Each question carries 5 marks.    (5x4=20) 

28- fcgkj dk vkfFkZd fiNM+kiu nwj djus ds mik; crk;saA 

Give solutions to remove economic backwardness of Bihar. 

29- Hkkjr ds jk"Vªh; vk; esa òf) ls fodkl dks dSls cy feyrk gS\ 

How does development gain strength from rise in national 

income? 

30- eqnzk ds D;k ykHk gS\ o.kZu djsaA  

What are the benefits of Money? Describe. 

31- Lo;a lgk;rk lewg dh xjhcksa ds vkfFkZd fodkl esa D;k Hkwfedk gS\ 

What is the role of self-help group in economic development of 

poor? 

32- lsok {ks= ds fodkl esa f’k{kk dh D;k Hkwfedk gS\ 

What is the role of education in development of services sector? 

33- Hkkjr esas oS’ohdj.k ds i{k esa rdZ nsaA 

Give arguments in favour of globalization  in India. 

34- Hkz"Vkpkj ls vki D;k le>rs gSa\ blij fu;a=.k dSls fd;k tkrk gS\ 
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What do you mean by Corruption? How is corruption controlled? 

35- vFkZO;oLFkk ij dkys /ku dk D;k izHkko iM+rk gS\ 

What is the impact of Black Money on an economy? 


